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Q1. Choose the comect answer.

1. Which data takes only some specific values?
Ungrouped data s1» 5./ # (D)
2. The number of times a value occurs in a data is called:
Class boundaries .32 (D)
3. Midpoint is also known as:
Class mark @& 5Lz (D)
4. Frequency polygon is also drawn / constructed by using:
Class limit == (D)
5. The difference between the greatest value and the smallest value is called:
Range == (D)
6. Measure of central tendency is used to find out the ...... of a data set:
Frequency +# (D)

7. If the mean of 5,7.8,9 and x is 7,5, what will be the value of x?

58 (D) 8.5 (C)
8. Find the mode of the given data. 2,5,8,9.0,1,3,7 and 10:
No mode (D) 0 (C)
9. In a data the values (observation) which appears or occurs most often is called:
Weighted mean -}t (D) Median _:ie-+ {C)
10. Find the median of the given data: 110,125,122,130,124 and 120:
127 (D) 125 (C)

Q2. Write short answers of the following questions.

| . The following distribution represents the scores achieved by a group of chemistry students in the
chemistry laboratory:

Grouped data s1+$+./ (C)

Class limit .- 3Lz (C)

Class limit .- 3"z (C)

Class boundaries ss.» 32 (C)
Relative frequency »53* (C)

Middle or centre value .34~ (C)

Scores 24-28 2933 3438 3943 4448 4953 Total
No. of students 3 b 12 23 15 b 65

What is the lower limit of the class 39-437

Il . The following distribution represents the scores achieved by a-group of chemistry students in the
chemistry laboratory:

Scores 24-28 2933 3438 . 3943 4448 4953  Total
No. of students 3 b 12 23 15 B 65

What is the midpoint of the class (34-38)7

Il . The following distribution represents the scores achieved by a group of chemistry students in the
chemistry laboratory:

Scores 24-28 2933 34-38 39-43 4448 4953  Total
No. of students 3 B 12 23 15 6 65
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What are the class frequencies of the classes 29-33 and 44-487

IV . Following are the eaming (in Rs) of ten workers: 88,70,72,125,115,95,81,90,95,90. Calculate:
Median.

V . The student each from Grade V section A and B of a well reputed school. were taken randomly.
Their weights were measured in kg. and recorded as given below:
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Weights (kg) Section A 30 28 32 295 35 34 31 33 40 375
Weights (kg) Section B 35 315 345 35 328 38 395 36 365 34

VI . Asurvey was conducted from the 15 students of a school and asked the students about their
favourite colour. The response are: Purple, yellow, purple, yellow,yellow, red,blue,green,
yellow,yellow, red, blue, yellow, purple, green. Find mode of the data.

VIl . Define the following: Frequency distribution.
Vil . Define the following: Mean.
IX . Define the following: Median.
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X . Given below are marks obtained by 45 students in the monthly test of Biology:

LS Libntesd UL EIALL W5 . X

Marks 20-24 25-29 30-34 35-39 40-44 4549 4549 40-44 35-39 30-34 25-29 20-24 ir
No. of students 05 08 12 15 03 02 02 03 15 12 08 05 . ur’ b
With the reference of the above table find the following: Upper class boundary of the 5th class. cd J‘? L':J{L”;dfﬂ L?Lﬂuifk: fﬁuff_ﬂ, i utii:s!aulﬂj ij;:{_}l
Q3. Write detailed answers of the following questions. 5X2=10 L Mehd LS s p0u0 34 Dy
1. The marks obtained by the students in the subject of English are given below: LEEHE_JH ufuwl#-’f- - L Uss 'ujf:‘f:;x-* A
Marks obtained 15-19 20-24 25-29 30-34 35-39 35-39 30-34 25-29 20-24 15-19 ,-*' LE;,JU""LP
Frequency 9 18 35 17 9 5 17 35 18 9 il
Find: Median of their marks. _U:Irr oo s, R o
2. Following are the weights (in kg) of 50 men. Find the median weight S s i 1& st SE) i S sT50E L it 2
Weights (k) 10-114 115119 120124 125120 130-134 130-134 125129 120124 115119 110-114 BIVLIEY
No. of men (7) 5 12 23 6 4 4 P 23 12 5 (N1t
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